
1

c

A

063.7240 a
b

M6 (2x)a

M6x16 (2x)b

SmartMetals Mounting Solutions B.V. • Handelsweg 4 • 4231 EZ Meerkerk • The Netherlands • T +31(0)183352942 • F +31(0)183352909 • E info@SmartMetals.eu

MOUNTING INSTRUCTIONS	 063.7240	                 
INSTALLATIE INSTRUCTIES	 063.7240 		    

English

1. Mount the  key-board platform with washers M6 
(a) and bolts M6x16 (b) as shown to the stand head 
(A). Run the screen and keyboard cables through 
the holes and bundle them to your preferences us-
ing the supplied tie-wraps (c).

Nederlands

1. Monteer het toetsenbord plateau met sluitringen 
M6 (a) en boutjes M6x16 (b) zoals is weergegeven 
aan de statiefkop (A). Voer de scherm- en toetsen-
bordkabels door de uitsparingen en bundel ze naar 
eigen inzicht met de meegeleverde Tie-wraps (c).

Key-board platform for floor lifts 052.72x0 and 062.72x0
Toetsenbord plateau voor vloerliften 052.72x0 en 062.72xx


